%8 Jao@Us HEdHRl Y |y #Yi0 RRIST IR

SXHIY: 07582—281345E-Mail - sanchimccsagar@gmail,com

$h./396/§HgH. /19 MR, f&i® : 06.06.2019

S b GRS il

gaolgUs Y WY B hls g¥ A Pex, ISR R 11 D@L /200 B.
Y. 9T & CIABER BT RAYAT BT (GHTHTIRM gds as SIal &1 BRI
WWWW% 05 9Rg (VYU U &) ©, @ ford vAMI AN
A Uollgd 3" &l & SdhaR /MfdeTeRl HS—MfdaT & ArgA 4 OnlineMfder
ST B S R | 5Tgd Ud U MIIGIHR §RT AegYa T & s—I=dal
JaaTgewww. mptenders. gov.intR ffaeT uum IR %, 1000/ —(Ud BOR %.) &I
STIAC BT AT ATM/DebitdTs §RT YITAM R a6 27.06.2019 AURTE 04:00
g9l db U /g fhAr S Wehar g WX gY fMfder yum i 27.06.2019 B
IRTE 500 T db WHR fHY TIRRT YafeAid 28.06.2019 BT URT=E 3:00 Fof
SuRera ffagrer /3ifdga ufd=i & §9e el SIRAT | JgRe (8 &1 i S0
25,000/ —T YA TS ABAT SET fard g | e oma # ure fhfl ff
FfIeT @1 779 vd wWiad T8l fhar S| [fder dede ' e ud o fagd
SR UYL SLU%. B Jaarsewww.mpedf.gov.in TR ST & |

& HIIUTA 3TBRI

JRAEUE WEBRI g FY 7Y,
qrR (H9)



E-Tender Detalils

Tender level Details

Tender No: * Tender Creation | 06.06.2019
Date and Time:
NIT No: * | 396/BKDS/Engg/19/ Title: * | Transformer
Notice Invited for: | Tender Stage: | Three
Tender Call: * Third Currency: | Indian Rupee
Email: * | sanchimccsagar@gmail.com Division/Basin: *
District: Vendor Class: *
Tender Category: * | Works Tender Sub category: | Electrical
* | work/Equipment
Period of Completion | 45 Days Tender Type: | Lump Sum
(In months): *
Form Of Contract: | General SOR:
Name of Work: * | 11 KVA Transformer & HT Work No: * | 01
Connection
Tender Fee details
Probable Amount of | 5 Lacs EMD in :* | 25,000/-
Contract(PAC) in: *
Cost of Document in: * | 1000/- Processing Fee in :
Important Dates
Purchase of Tender | 07.06.2019 Pre bid meeting
Start Date : * | 12:00 Noon Date and Time:
Purchase of Tender | 27.06.2019 Bid Submission | 27.06.2019
End Date: * | 04:00 PM End Date: * | 05:00 PM
Mandatory Submissions | 27.06.2019 Technical Proposal | 28.06.2019
(Envelope A) Open Date: | 05:00 PM (Envelope B) Open | 03:00 PM
* Date: *
Financial Bid (Envelope | 29.06.2019
C)Open Date: * | 03:00 PM

* Mandatory field




(01)

%8 JRaEUs HEPN g |y 7910 RRIGT IR
8

— fafdsT gu= —

1. QT o —g_a@ve Y GY Bl ghlg g WA b, TR R 11 D@L
/200 B.EIY. &AA & CIABAER BT RYAT BRI U HT HeaE B g ollg+
ST & B B |

3. (AfdeT oo &1 4o — ¥ U R A1F e ( 1000/ — %. IS )

4. fAfaeT B9 oA &1 RATd — Afder s W RHid 27.06.20193TU8R 4:00
ol P |

5. fafagr ST B &7 S1f~aw feATd vd 98y — f3Hid 27.06.2019%1H5.00
o I |

6. (faaT o &1 faid Ud |AAY :—28.06.20195TUER 3:00 Iof & |

7. ST WIe &1 @M — SR §Radvs J8hRl 8 ¥ AR |

8. ITR Y UdT— &I BRI TGN Too@re FehN! el Y AN |

A HIRIUTA ARTBRT

gacgUS DN e FH HNR



gfRfre(3r)

TRAErE T WY B FHE ORI [H 11 BEL/044 D@ & BT fdgd
HFE fHar ST ©, 7% 200 $. 1T, &HAT BT SRABHR AUd ®RAr 8, g e

ST B ST 2 |

& BT faaRor

01.

7 o Yd & I AR el fafics @1 11 f0&og0 osad g ofid o<

TPH 11 BORIOT0 DI AR STl ACRIS Afed X STFATT 40 Hie |

02.
03.

04.
05.
06.
07.
08.

09.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,

25.

200 B.@LY. TFABFER B BIE~S¥H UG BT &1 B |

200 ®H.RIY. R SABER 11000 diec /440 dlec MU, 3MME. ATdHStarRatingTd
AU fafd dul 9 Wigd & RIUAT ST (\ASRI |fd) |

SIl. Wk T UAHLEL 09 BT B eI argaR {6 ST g |

A H UTel /e BT B AATIHATTAR T ST 3 |

ol wol Hiex (A= / H.P.L./Geneous)/ I1SI Mark. HT #Iex CT/PT 11 %010 & ST |
IRAS BfdeT 120 sq mm TEGHER A ACB W G o JATTeIHATJARESI] |
ACB ¥ 3.5 Core,®fdd LT U9 d& STavl, dfdat ISI ATd  XLPE(Finolax/Ravin)
IRAS TIHIRA Bfde aeRae dfed SRPHR | LT U=t @1 S0 ST 40 Hiev |
ffr fae o1 fafor 7 7Ry afkd & ® |

SABIER 9 ACB % fagd @rgs STofT |

SIS, W19 BT By |

11 B.@IU. H LA Set Td DO Set &7 Hrd far =T 2 |

11 ®&1T § vl Rag, g€y, 3 |

AT hATIAR F&Eh ggeicy g U g=geicy I |

T Urell BT BB, AU Ud TFR HaR BT B fhAT ST 28 |

MATIHATTAR W e BT BRI fHam S 7 |

AB Red ¥ SFABIR O fdg[d olig STer T |

Prsdex Dog AAAC (100 Sgm Angle) &T ST foham ST 2 |

TsfeTT aRwer AT Ifed fhe &A1 11 BE. |

Anti Climbing fSargd ) @HI TR o T |

I W Td IR R VS IS S Ud Ricdr Ue &_AT |

9 WIE Ud 9 Urell TR SoR BT a1 1T |

faerd grerm fawmT >~5|3*| e DHRIBR AT DT TTapd] U BT |
SRBEFR WId e ®Wellc &Y Ho¥0 Yd & o0 s B oS
M@ HAT |

SRIGd BRI H JIe Eaegshdel & gfd & AfdRed raegs fafdd

P W FAfdeeR gRT foar S 2 |

(3)



faery facer —

— ¥ PR 7Y Uy Yd & fIgd faRer Al & AU US & AR R

HeRge Afed fhar S 8 |

—  ffceRr @ AR R SR ST eIl SRAT awId: § i fawr o)
UBR B ¥¥ B Rerfey Uer 7 8

— g9 WM BT FAIT 9 gRe SMAfFEr @ AR BRI S 6 fagd
GRefT T & < fipfar form ST st 7 |

— 3 A 7o uew qd & faga faaroer eusl / fagd gRem v |
HATUH, A Ud B HeTel- YR 8 & SURIT {hal SR |

Iad AR PR 7Y AeRAd & augafafds & framgar fear S g
BRI H AaTIDHdl FgAR fde s wffera & |

el —Ylolde /S f$cd RUE A8 yowr gd &F fgd faaRer Suel o iR |

R BRIUTT RN




uR¥re (a)

§ = warel @1 SuRerfd # 997 bl <9 a1 9y & qui gerEary H
T HY B 3PS §F WA D" AR R 11 & /044 D). &7l & 99
I & i SR gg (ST yus § g BHie 2 U9 3 o T fawg BHie 1 9
25 Th & AaRU & ATAR AU BRI DU oo (Tt H wWLc
............................................................ ) THE BRI AR HRA DI IR F |
TATE 1
IR
S35 A
LS,
T8 2
TRIER
S5 A
S
FfdeTdR & gwiER
AfIgTpR &1 A T udn
FAfIETAR BT GRUTT TR oo L 1[0
LS5 T £ AR THA TR e



10.

TRidre (3)

JRIUS T GH Pl SHE NMORWR UH 11 D& /044 H@. &aal &l fagd

PG fHar ST 8, OrH 200 ST &HAT BT SIEHHER AT BT 2, R
SRTd 05 g 5. 2 |

ffIereR ey fayd dsa 9 a1 4ol # Uofigd ST 3maedd 2 |

fAfISTAR &7 11 & /200 D EIY. TG LIF 0T BRI B BT 9T ATTS T |

ISR & U 9AM &HaT/ISAY JAfE &Aa] BT B H HH Ub BRI goiar &

AT YT TS ST ST Sifard g |

ERIER RN W Pl TSl oI el Bl |

Wigd MAeR & BRI AR U 89 & 9 fqdd & <R WAl Ud Ud As

b 3ER PRI URY IR 45 faqd H BRI YOI HIAT BT |

BIECUK I NG S il

ffaer oo @ 91 ", Ager” Wcithae @ BRI U Wi & ifard 8 vd ffaer

G & T9I qo vfc fa@r sraegsd s e (Hfder W faaR T8l fhar S |

MfdgreR & ®R1 g9 Ple MMH T 81 8RN BRI & W & AR UR I

far ST |, S b Srfebad  60% BIT| 30%YIdE BRI YUis UG fdgfd gRem

fO9RT @1 SrgAfd T 819 WR AT ST AT | WY 10%YIar U 99 & Aheldiydd

FATA ® SURIA fHAT SR | 37rar 10%R1T & SRR U 99 @I §9d TR g W

foar S | |

MfISTR &1 B G S[6 9 9”1 o R a1 FeiRa s@fy 9 faerg 891 wR Sar

e g SITaTT e 3rEa JIf3 oI B STRIT | 3T faoid Y Rerfa )

afds

11.

12.

13.

14.

TR deran far SR |
For Services
S. No. Duration of Delay Liquidated Damages
1. 1 Month 1%
2. 1 to 2 Months 2%
Beyond 2 months 5%

Wﬁw@%ﬁﬂ%wﬁnw%ﬁﬁﬁﬁm
JAMABNT TF HIFTTR AFR FINT FFR B0 ATH TAT GETHRT I8 |
J& SR EeRT @l fedl A ffdar & ofwra: siEr gk
Wad / G BT BT SMAHR GRId 27 |

fFfagrer Ffder R =9 9§ 9@ wa &1 Rgm R 96d | [faer
Ud PRA R IS AAT SRAT fb I BRI W BT FRIETr welif
PRe [fder e 99 7 | G2 (e 7y T8 o S |

faea gRem faumT | Wil Ui 89 & SR 81 b &l 3Afaq qarae
fehar SITeT |

6)



15. I ™ 99 A S QU 9 8 W UfT 99 & Ao oMaR R aneirs
ARG fbar ST AebaT 2 |

16. ffdcrer o wfdw g TR Ud U9 TR &1 ST 3awdd 2 |

17.  BRRAIGNRRA /BHARAT BT EPF IVDRLIE  Ud IHBT AT
ferard 2 |

18. \fd o IORLIH TG SFBT ATATT Sff=ard 2 |

19. FE—IF H BRRA THIRRAl/ HHATRAT BT 1, ESI, ESIC Labour
CompansationdTfe™ll  SAIG Ud 3 &HREMT ¥l & Favd |Yol
STTEERT ShaR dl 81| bl |1 YR &1 "e1/gacaH afdayfd safe
®! SaEeeR) AfIeTeR /SdhaR @ BT |

g BIIUT DRI



Task No:- 1

Task Name :- Metering Equipment

Labor &
Task Number Scrﬁgule che:[dule UOM Schedule Description C‘*(Q/tage Trans, | om0
: Y. %) | chg. (%)
Charges
E-3.3 Material E-3.3 1.00 Number | (111) 200 KVA USING DTR 11.5 13.45
ON 152X152X37.1 KG/MTR,
11.0 MTRS. LONG H-BEAM
SUPPORTS
Labor
Miscellaneous-Ca 11.50 10.00
pital
Miscellaneous-Ex 11.50 10.00
pense
Overheads
Returnable Material
Supervision

Totel




Task No:- 2

Task Name: 11 KV E3.3 Material

Company Item | Totel
Item Code Item Description UoM Remarks Expenditure Type provided Qty.
(DW) Cost | Cost
Other S/S-11/0.4 KV
Charges Other Charges DISTRIBUTION TRX 3534

Totel




Task No:- 3

Task Name:

11 KV E3.3 Material

" . Company Item | Totel
Item Code Item Description UOM Remarks Expenditure Type provided Qty.
(DW) Cost | Cost
10103033 DTR 11/0.4 KV CONVENTIONAL 3 STAR Number S/S-11/0.4 KV 1
RATING TYPE 200 KVA, ALUMINIUM WOUND DISTRIBUTION TRX
12202003 H-REAM 11 METER 152X152 MM 37.1 Number S/S-11/0.4 KV 2
KG/METER DISTRIBUTION TRX
12151006 DC. CROSS ARMS 8 (2.4 METER) CENTRE TO Set S/S-11/0.4 KV 1
CENTRE 100X50X6 MM CHANNEL DISTRIBUTION TRX
12147003 BACK CLAMP FOR H BEAM POLE OF 65X8MM Set S/S-11/0.4 KV 6
MS FLAT DISTRIBUTION TRX
12402006 11 KV, 45 KN DISC T&C COMPOSITE POLYMER | Number S/S-11/0.4 KV 3
LONG ROD INSULATOR DISTRIBUTION TRX
12107001 11 KV STRAIN HARDWARE (T&C TYPE) Set S/S-11/0.4 KV 3
FITTINGS DISTRIBUTION TRX
12154001 GALVANISED D.O. MOUNTING CHANNEL Number S/S-11/0.4 KV 5
75X40X6MM DISTRIBUTION TRX
Number S/S-11/0.4 KV
12167020 H.BEAM CLAMPS 65X8MM FLAT DISTRIBUTION TRX 4
Number S/S-11/0.4 KV
12126002 DO FUSE UNIT COMPLETE-11 KV DISTRIBUTION TRX 3
11 KV, LA POLYMER TYPE GAPLESS/METAL S/S-11/0.4 KV
12141004 OXIDE 9 KV 5 KA LINE TYPE Number DISTRIBUTION TRX 3
TRANSFORMER MOUNTING CHANNEL S/S-11/0.4 KV
12153001 100X50X6MM Set DISTRIBUTION TRX !
12152001 TRANSFORMER CLAMPING SET 50X50X6MM Set S/S-11/0.4 KV 1
ANGLE 460 MM LONG DISTRIBUTION TRX
12161001 TRANSFORMER BELTING SET 50X50X6 MM Set S/S-11/0.4 KV 1
ANGLE WITH TWO CROSS FIXING CHANNEL DISTRIBUTION TRX
STAY SET WITHOUT STAY WIRE 16 MM S/S-11/0.4 KV
12167001 | o A \NTED) Number DISTRIBUTION TRX 4
. S/S-11/0.4 KV
12114002 STAY WIRE 7/3.15 MM (7/10 SWG) Kilogram DISTRIBUTION TRX 22
19132009 CONCRETING (1:3:6) OF H-BEAM @ 0.65 CMT. Cubic S/S-11/0.4 KV 1.3




PER POLE (BASE PEDDING + MUFFING) meter DISTRIBUTION TRX
10132002 | CONCRETING (1:3:6) OF STAY @ 0.2 CMT. PER | Cubic S/S-11/0.4 KV 5
STAY (16MM) meter DISTRIBUTION TRX '
AAAC RABBIT CONDUCTOR 0.05 SQ. INCH (55 | - S/S-11/0.4 KV
11102004 | 5 "Mim AL.EQ)) Kilometer DISTRIBUTION TRX 03
S/S-11/0.4 KV
12169005 | DANGER BOARD ENAMELED 11 KV Number D STRIBUTION TRX 1
S/S-11/0.4 KV
12122004 | GI EARTHING ROD, 20 MM DIA 2000 MM. LONG | Number D STRIBUTION TRX 3
ANTI CLIMBING DEVICE (BARBED WIRE 3.5 : S/S-11/0.4 KV
12116002 | 1 ) G 2.5 MM DIA (12 SWG) Kilogram DISTRIBUTION TRX !
. S/S-11/0.4 KV
17115001 | RED-OXIDE PAINT Litre D eTRIBUTION TRX 2
. S/S-11/0.4 KV
17115002 | ALUMINUM PAINT Litre D STRIBUTION TRX 2
) S/S-11/0.4 KV
12502274 | M S BOLT WITH NUT 16X250 MM Kilogram D STRIBUTION TRX 3
) S/S-11/0.4 KV
12502275 | M S BOLT WITH NUT 16X200 MM Kilogram D STRIBUTION TRX 2
Kilogram S/S-11/0.4 KV
12502277 | M S BOLT WITH NUT 16X140 MM D STRIBUTION TRX 2
M S BOLT WITH NUT 16X90 MM Kilogram S/S-11/0.4 KV
12502004 DISTRIBUTION TRX 3
M S BOLT WITH NUT 16X65 MM Kilogram S/S-11/0.4 KV
12502003 DISTRIBUTION TRX 3
M S BOLT WITH NUT 12X140 MM Kilogram S/S-11/0.4 KV
12502001 DISTRIBUTION TRX 1
DISTRIBUTION BOX MOUNTING CHANNEL S/S-11/0.4 KV
121540251 75406 MM) Set DISTRIBUTION TRX 1
L.T. DISTRIBUTION BOX FOR 200 KVA S/S11/0.4 KV
12132004 | TRANSFORMER (600 A. ISOLATOR & 9 SP Number D e TRIBUTION TRX 1
MCCB OF 120 A)
XLPE LT 1 - CORE ALUMINIUM UNARMOURED | . S/S-11/0.4 KV
11203004 | 155 soMM CABLE Kilometer DISTRIBUTION TRX 08
XLPE LT 1 - CORE ALUMINIUM UNARMOURED | . S/S-11/0.4 KV
11203001 | 509 soMM CABLE Kilometer DISTRIBUTION TRX 04
12138002 | L1 KV AB SWITCH THREE PHASE 600 AMP TP | S/S-11/0.4 KV ]
GANG OPERATED DISTRIBUTION TRX
14102008 | LT TRIVECTOR ENERGY METER,DLMS Number EM-LT ENERGY 1




COMPLIANT CATEGORY-A (FOR
SUBSTATION/FEEDER METERING) ,3 PHASE 4
WIRE, 440 VOLTS,5 AMP, ACCURACY CLASS
0.5S WITH GSM (GPRS COMPATIBLE) MODEM
WITH BOX

METER

Supervision

Supervision Charges

S/S5-11/0.4 KV
DISTRIBUTION TRX

Total




